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Algebra Section 8.3

Pages 503-508

Goal: “You will use zero and negative exponents”

1) a®= 50 =1

2) a™™ isthe reciprocal of a® 271 =

N | =

Zero Exponent

Follow the Pattern: Proof:

25= 32 i—i = x° Use your exponent rule.
2= 16 Anything divided by itself is? 1

23= 8 sox%=1

22 = 4

2'= 2

2°=? Since the pattern is that you keep dividing by 2, the next number would be 1

Negative Exponent

Follow the Patterm: Proof:

2 = 4 = an

2' = 2

2° = 1

2= Zor = 2 _ 2222 1
27 2 25 2.2:2.2:2 2!

27 = Zor —



Simplify the following expressions. Write your answer using positive exponents.

Ex: (3x?%y?)?

27y°
x6

Ex: 473

Ex:

4x72y*
8xy

2x3y

EX i_s
y
L—l_i—l.y_S_ 3
§§ - y3 _'1 17'_ Yy
1
Ex: F
8
7
Ex: 7—5
49
Ex: —(Zx)izys
—4x*y?

16x*



